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II If line / has a slope of 5 and passes through the point
(4, -2), then what is the y-intercept of line /?

~-30
(S!j)/ -2 2
(C) -7
(0) -2
(E) 3

4. 20. 100. d. 2500. 12500 In the sequence above. what is the value of d?

D
~
(B)
(C)
(D)
(E)

500
1000
1080
1100
1500



IJ (2 X 1.04) + (5 X 1.03) + (6 X 102) + (4 X 101) =

(A) 2,564
(B) 20,564
(C) 25,064
~ 25,604
~ 25,640

x y Z
4 I + I + I I I I + I ~

0 2 4 6 8

II On the number line shown above, the length of lZ is
how much greater than the length of XY?

@3
(B) 4
(C) 5
(D) 6
(E) 7

If2x+l = 16, what is the value of x?

&;
(C) 4
(D) 5
(E) 6

~

NQ1.e;: Figure not drawn to scale.

In the figure above. what is the value of a?

(A) 50
(B) 55
(C) 60
(D) 65

~70
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g If x - I is a multiple of 3, which of the following must
be the next greater multiple of 3?

Wx
Wx+2
(C) x + 3
(D) 3x
(E) 3x-3

m The average of 20, 70, and x is 40. If the average of 20,
70, x, and y is 50, then what is the value of y?

(A)
(!m)

(C)
(D)
(E)

100
80
70
60
30

m If 40 percent of r is equal to s, then which of the
following is equal to 10 percent of r?

(A) 4s

(B) 2s

(C) ..:!.
2

@Vi
(E) ..:!.

8

If a prifact number is a nonprime integer such that each
factor of the integer other than 1 and the integer itself is
a prime number, which of the following isa prifact
number?

(A) 12
(B) 18

@21
(D) 24
(E) 28
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ill The figure above shows the graph of w(x). Which of
the following shows the graph of w(x - 3)?eI-¥.

~.
y

*-,

(B)

(C)

(0)

t
4-

y

*,

w If 3x + y = 14, and x and yare positive integers, each
of the following could be the value of x + y EXCEPT

(A) 12
(B) 10
(C) 8

~6

~4

x



If !L:-l + k = 5 + !l=l, then what is the
" 4 7 2w

tfJ? ) -1~

(B ;;;'7

) 0
(D) 4
(E) 7

w

s
(A) s-=-;

(B) !..::::..!..
8

@¥
(D) s - 8r

(E) rs - 8

W If d is an integer, which of the following CANNOT be
an integer?

ofq?value

d
(A) 2"

W
2

(B)

(C) 2d

@ d\fi

(E) d+ 2

In the figure above, the area of b. ABC is 6. If BC = CD,
what is the area of A ACD?

(;;;6
(B) 8
(C) 9
(D) 10
(E) 12
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II The ratio of x toy to z is 3 to 6 to 8. Ify = 24, what is ~ If r< 0 and (4r- 4)2 = 36, what is the value ofr?
the value of x + Z ? (A) -2

(A) 11

~~
(D) 66
(E) 88

~ Ifx+y=ll,y+z=14,andx+z=13,whatisthe
value of x + y + z?

(A) 16
(B) 17
(C) 18

((Dj) 1 9

(E) 20

(B) -1

@-I

(E)

~ If a cube has a surface area of 36n2 square feet, what is
its volume in cubic feet, in terms of n?

(A) n3 \f6

@ 6n,3 'V'if
(C) 36n3

(D) 36n3 \f6
(E) 216n3

!
I
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